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QUESTION 1

Which of the features below does a B2BUA deliver to a SIP-based VolIP architecture? (Choose 3 answers)
A. centralized call management

B. SIP-based VolP interworking between LAN and WAN

C. management and monitoring of the entire call state

D. Provide conversion of TDM to DIP

E. connect legacy phones

Correct Answer: ABC

QUESTION 2
Which statement is true?
A. Recording is not possible from a routing strategy.

B. If busy treatments are played from a routing strategy while Customer is waiting for an available Agent, as soon as a
target is available, the busy treatment is stopped.

Correct Answer: B

QUESTION 3

What does the parameter \\'confrole=monitor\\' in the INVITE message sent to Media Server indicate about this
participant?

A. is a customer

B. is an agent

C. is a supervisor doing silent monitoring
D. is a supervisor doing whisper coaching
E. has to be monitored by recording

Correct Answer: D

QUESTION 4
Which of the statements about gcti DNs is correct? (Choose 2 answers)

A. GctiDN must have a name in the following format: \\'gcti: :XXX\\' where XXX is the type of functionality presented by
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this DN

B. Gctl DN must have in a Annex tab \\'TServer\\' Section an option service-type with following value: gcti::XXX\\' where
XXX is the type of functionality presented by this DN

C. Gctl DN must be a VolP Service DN type only
D. Gcti DN can be a VolIP Service DN type
E. Gcti DN can be a Trunk

Correct Answer: BD

QUESTION 5

Which of the following stays in the signaling path during the entire session? Choose 2 answers
A. Registrar

B. Stateless Proxy

C. Stateful Proxy

D. R B2BUA

E. Redirect Server

Correct Answer: CE
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